QUANTITY  PART DESCRIPTION

| Main Base Plate (4mm matte CF)

—

Upper Fuselage Plate (1.5mm matte CF)

FPV Camera Mounting Plates — 32mm tall (1.5mm matte CF)
Plastic Spacer (Black plastic M3 hole x 7mm OD x 2mm long)

Hex Standoff '"Male — Female' (Black plastic M3 thread x 6mm long)
Phillips Head Screw (Black plastic M3 thread x 15mm long)

Nut (Black plastic M3 thread)

AN A M M 00O DN

HS1177 Camera Mount '‘Backplate' / Adjustment Screws (Phillips head #2 x 3/8" long x stainless steel)

—

HS1177 to Swift conversion mount (Black 3D Printed Plasftic)

1 VTX Antenna Mount (Black 3D Printed TPU)

1 RX Antenna Mount (Black 3D Printed TPU)

Antenna Tube (Black Plastic)

M3 X 4.5mm OD X 3mm Long Spacer (Aluminum)

Frame Standoff (M3 x 32mm long x knurled black aluminum)

Socket Head Screw (M3 x 8mm long x black 7075 aluminum)

o N A NN

Socket Head Screw (M3 x 10mm long x black 7075 aluminum)

| Velcro Lipo Strap — Catalyst Machineworks



